BHARAT COKING COAL LIMITED



(A Subsidiary of Coal India Limited)

Office of the Chief General Manager Bastacolla Area-IX

Ref.No. BCCL/IX/ACE/2010-11/236

NOTICE INVITING TENDER

Sealed tenders in two parts (Part- I & II) on overall percentage rate basis are invited from experienced and eligible contractors for taking up the following works:-

Sl.	Name of Work	Estimated	Earnest	Cost of	Time of
No.		Cost	Money	Tender	completion
		(Rs.)	(Rs.)	Paper (Rs.)	
1.	Repair/Maintenance work of 3 units NHS Qtr. No. 4 N.A./44+32+55 at 4 No. Arc for shifting of Ghanoodih working at Doabri Colliery.	79,238.32	793.00	100.00	01 (one) month
2.	Repairing/Renovation of roof slab of Fan Drift of 5 No. Incline '3' Seam of Dobari Colliery under Bastacolla Area.	64,596.11	646.00	100.00	01 (one) month

Issue of tender documents from 27.12.2010 to 28.12.2010.

(Issue of tender documents will be done on all working days during working hours except on Sundays & Holidays),

In the event of the specified date for submission/opening of bids declared a holiday by the employer, the bids will be received/opened on the appointed time on the next working day.

Date and Time of receipt/opening of tender

- (a) The tenders will be received on 29.12.2010 from 10.00 A.M. to 3.00 P.M. in tender Box kept at:
 - (i) Office of the Area Civil Engineer, Bastacolla Area -IX.
 - (ii) CISF Post, near Koyla Bhawan gate, Koyla Nagar, BCCL, Dhanbad in Box marked Bastacolla Area -IX.
- (b) Part-I of the Tender will be opened on **30.12.2010** at 4.00 P.M. in the presence of intending tender of their authorised representative in the office of Area Civil Engineer, Bastacolla Area. Part II will be opened only after the acceptance of Part-I (Technical Bid) and after obtaining approval of the competent authority.

1. Eligibility Criteria:-

- (a) The intending tender must have in its name as a prime contractor experience of having successfully completed similar nature of job during last 7 (seven) years ending last day of month previous to the one in which bid applications are invited (i.e. eligibility period) should be either of the following:-
- i) Three similar completed works each costing not less than the amount equal to 40% of the estimated cost. **OR**
- ii) Two similar completed works each costing not less than the amount equal to 50% of the estimated cost. **OR**
- iii) One similar completed work each costing not less than the amount equal to 80% of the estimated cost.

Similar work means: Civil works.

(b) Average annual financial turnover of civil works during last three years ending 31st March of the previous financial year should be at least 30% of the estimated cost.

The intending tender must submit documentary evidence in support of (1) (a) & (b) above in the form of certified copy of work order, completion certificate, payment certificates etc. indication the period of work for which the payment has been made, dully signed by him/them.

Note: Provision under eligibility criteria 1. (a) shall also include those similar work "while considering the value of completed works, the full value of completed works whether or not the date of commencement is within the said seven years.

Dated: 21.12.2010

- 2. The tender documents can be had from the office of the Area civil Engineer, BCCL, Bastacolla Area-IX, Vikash Bhawan, Jharia, Dhanbad during the period mentioned above on deposition of requisite cost of tender paper in form of cash or bank draft of any Nationalized/Schedule bank in favour of B.C.C.L., Area No-IX A/C, payable at Dhanbad.
- 3. Completed sealed tender documents (part I & II) should be submitted at the same time. Part-I shall consist of terms and conditions of the tender, additional terms and conditions if any, technical bid and credentials. Part-II shall consist of tender documents as sold to the tenderers duly filled in for rates, amounts etc. i.e. price bid.
- 4. The Earnest money is to be deposited as per details given in the tender documents.
- 5. The Management of BCCL reserves right to reject any or all tenders without assigning any reasons what-so-ever and to split up and distribute the work among the tenderers.
- 6. No materials will be supplied by the deptt. for this work and will be responsibility of the contractor for procurement of the same at his own cost and risk.
- 7. Issuance of tender documents does not mean that the parties are considered qualified.
- 8. Late or delayed tender shall not be considered.
- 9. An Affidavit on Non judicial Stamp Paper before Notary Public regarding:
 - a) Genuineness of the documents submitted and
 - b) They have not been banned or de-listed by any Govt. Or Quasi Govt. Agencies or PSU's should be submitted along with the tender document in Part-I.
- 10. The validity of the tender will 120 days from the date of opening of price bid or revised price bid, if any.
- 11. Conditional tenders will not be considered.
- 12. The tenderers have to submit Income tax clearance certificate/PAN No. of Income tax.
- 13. The tendrers have to submit the copy of Sales tax clearance certificate dully attested by a **Gazetted Officer of the Govt.** (Central of State) & TIN No.
- 14. The completed Bid documents will be available on the Website of the Company, http://bccl.cmpdil.co.in for the purpose of downloading and tender submitted on such downloaded bid documents shall be considered valid for participating in the tender process.
- 15. The company shall not be responsible for any delay/difficulties/in-accessibility of the downloading facility for any reasons whatsoever. The downloading facility shall be available during the period of sale of tender paper.
- 16. The bidders, who will download the tender documents from the website of the company, will be required to pay the cost of tender paper (Application fee) by Bank Draft as per NIT at the time of submission of tenders.
- 17. The bidders will be required to submit an undertaking that they will accept the tender documents as available in the website and their tender shall be rejected, if any tampering in the tender documents is found to be done at the time of tender.
- 18. The bidders are required to fill the format of Electronic Fund Transfer in triplicate which is enclosed with the detailed Tender Notice.

Area Civil Engineer Bastacolla Area-IX.

Copy to:-

- The C.V.O., BCCL, Koyla Bhawn, Dhanbad.
- 2. All CGMs/GMs of Areas/Projects of BCCL.
- 3. General Manager (Const.), CED, Koyla Nagar, Dhanbad.
- 4. GM (System), with request to upload the NIT in Company's website (C.D. containing NIT document is being sent separately together with a forwarding latter).
- 5. Chief General Manager, Bastacolla Area No. IX.
- 6. Addl.General Manager, Bastacolla Area No.IX.
- 7. Area Manager(Plng.), Bastacolla Area No.IX.
- 8. Area Finance Manager, Bastacolla Area No.IX.
- 9. Project Officer, Bastacolla/Bera/Dobari/Kuya/Ghanoodih/GOCP(KOCP) & Kujama Collieries.
- 10. Incharge, CISF Post, Koyla Bhawan gate, Koyla Nagar.
- 11. Builder Association of India, Central Akashkinaree Kanta, Katras Garh, Dhanbad- 828113
- 12. Security Incharge, Bastacolla Area for displaying on the Notice Board, Bastacolla Area No.IX.

For SI. No. 1, - BILL OF QUAUNTITY FOR - Repair/Maintenance work of 3 units NHS Qtr. No. 4 N.A./44+32+55 at 4 No. Arc for shifting of Ghanoodih working at Doabri Colliery.

SI. No.	Item No.	Page No.	Particulars of item	Unit	Quantity	Rate in Rs.	Amount in Rs.
1	13.1.2	201	12 mm cement plaster of mix: 1:6 (1 cement : 6 fine sand).	Sqm	276.00	67.65	18671.40
2	13.7.2	201	12 mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement : 4 fine sand)				
				Sqm	55.80	97.90	5462.82
3	As per approved analysis rate		25 mm thick P.S.Flooring (1:2:4)				
4	10.25.2	166	Steel work welded in built up sections/framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required, In gratings, frames, guard bar, ladder, railings, brackets, gates and similar	Sqm	61.10	145.00	8859.50
			works.	Kg	558.00	51.20	28569.60
5	6.4.2 (-) 114.76	99	Brick work with F.P.S. bricks of class designation 75insuperstructure above plinth level up to floor V level in all shapes and size in: Cement mortar 1:6 (1 cement: 6 coarse sand).	Cum	3.98	2242.64	8925.70
6	14.42.1	219	White washing with lime to give an shade: Old work (one or more coats).	Sqm	698.00	4.10	2861.80
7	14.54.1	220	Painting and synthetic enamel paint of approved brands and manufacture of required colour to give an shade: One or more coats on old work.	Sqm	150.00	22.85	3427.50
8	15.56	231	Dismantling old plaster skirting our joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meters lead.	Sqm	300.00	8.20	2460.00
						TOTAL -	79238.32

			meters ied	iu.			39111	300.0	٠,	0.20	2 100.00
									7	TOTAL -	79238.32
Havi	ng gone thi	rough th	e Tender o	docume	nts & ele	ements o	f work in	the bill o	of qu	uantity :-	
l / wo	e quote	%() a	bove / bo	elow	the estin	mated
Our	quoted offe	er amour	its to Rs		((Rupees					
) inc	luding th	e above	percenta	ige.		

Signature & Seal of Tenderer

For SI. No. 2, - BILL OF QUAUNTITY FOR - Repairing/Renovation of roof slab of Fan Drift of 5 No. Incline '3' Seam of Dobari Colliery under Bastacolla Area.

SI. No.	Item No.	Page No.	Particulars of item	Unit	Rate in Rs.	Quantity	Amount in Rs.
1	15.3	226	Demolishing RCC work manually by mechanical means including stacking of steel bars and disposal of unserviceable material within 50 meters lead as per direction of Engineer-in-charge.	C	527.55	2.00	2005 60
2	5.3	88	Reinforced cement concrete work in beams, suspended floors, roof having slope upto 15°, landings, balconies, shelves, chajjas, lintel, bands, plain window sills, staircase and spiral stair cases upto floor five level excluding the cost of centring, shuttering, finishing and reinforcement with 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size).	Cum	537.55 3673.85	7.77	2085.69
3	5.22.3	92	Reinforcement for RCC work including straightening, cutting, bending, placing in position and binding all complete. Col twisted bars.	Kg	42.70	622.00	26559.40
4	5.9.3	89	Centring and shuttering including strutting, propping etc. and removal of form for: Suspended floors, roofs, landings, balconies and access platform.	Sqm	187.35	5.66	1060.40
5	4.1.3	79	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work up to plinth level: 1:2:4 (1 cement: coarse sand: 4 graded stone aggregate 20 mm nominal size).	Cum	3257.45	0.42	1368.12
6	6.1.2 (-) Rs.114.76	99	Brick work with F.P.S. bricks of class designation 75 in foundation and plinth in: 1:6 (1 cement mortar: 6 coarse sand).	Cum	2006.99	2.03	4074.18
7	13.1.2	201	12 mm cement plaster of mix: 1:6 (1 cement : 6 fine sand).	Sqm	67.65	5.95	402.51
8			Labour cost for carrying of rails, making holes in wall & placing of rail in position.	-4	500.00	3.33	500.00
						TOTAL -	64596.11

Having gone through the Tender documents & elements of work in the bill of quantity :-				
I / we quote% (_) above / below the estimated cost.			
Our quoted offer amounts to Rs (Rupees				

percentage.) including the above
	Signature & Seal of Tenderer